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27.317ft

Direction 4 505
2 178.860

Y component

is 0.5434 sothisis ftp.ffff if



5i 36 8i 49 5 8 it 36 49 130 85

Yg
13 85 7394 85.988

NotYYabsolute
gg

valueee ofee components

shiftpamplitude f horizontalshiftll

2
1

12_22 period i
Max VshiftVV amp 3 5 8
min VshiftVV amp 3 5 2

1

flipthepp graphee
upsidehh

down

2
4

16
L

a EE.itEE itEE i.iIfdi iIfdi fdtttt
Priest



a maxjm.ITx

222
axjmxjmx

vshiftshifti Max2tmIM222222vv 712 5

ppp 24 D

hhh shifts fortt
right

4 5 2 rs Hx1d y 5 2sinI x D I fEi
case it's 24 6

4 4 7cos 3
a maxjm.IS

7
jj
rsnist maII77rr 4 4 4 7sit xD fine figp12 b ff Ih shift

ffenerightgg case it's 12 3



40

30

20

M

1
0.393 2.607 3.393 5.607 6.393 8.607 9.393 10.607

4

is is it seconds

b a mayne_5421 25 c 29 2501 71.4 15
rshift MIMI 54129542542

d 4 29 2505 1 1.5
p 3 b 31

Y 12h shift.gsfss 9fifright
Intersect

y 29 25051 1 1.5
t 0.393seconds33

notice
2.607 seconds that

they
3.393seconds

differbyrr

theperiodee5.607seconds
whichis


